





Item Number

— 00 N N N Bk~ W N

13
13
14
15
16
17
18
19
20
21
22
23
24
25
28
29
30
31

Part Number

A17038
D28123
A01194

SSF-8080-ZN
1000001264

000000-00
AC-0364
D21429
N044990
Al16181
NO008792
Z-D27212
D21929
A19513
SSP-473
A19716
LA-3108
D20114
CAC-1254
LA-3027
NO008803
LA-3069
N000348
SSF-621

1000001262

D25730

CAC-1206-1

PartsList for 919-16738 Type O

Description

DRAIN VALVE

WHEEL SEMI PNEU 8X2.
BOLT .375-16X2.38 UN
NUT .375-16 UNC-2B H
HANDLE

No Longer Available

FOOT MOLDED BUMPER
BUSHING REDUCER .375
NIPPLE CLOSE 1/4-18
MANIFOLD

REGULATOR RPR KIT
GAUGE 200PSI .125NPT
GAUGE 2 OD 300PSI .1
BODY QC .250 IND .25
ASSY NUT SLEEVE 5/16
CHECK VALVE

LABEL HOT SURFACE EN
VALVE SAFETY 175 .25
ISOLATOR PUMP

LABEL DRAIN TANK ENG
LABEL WARN PORT/STAT
LABEL CRAFTSMAN
NAME PLATE

SCREW .250-14X.625 F
LABEL

GRIP HANDLE FOAM .62
CLAMP HOSE .250 ID H

Page 1

Qty Required

T S S N T S e T = T S S e e S e N S - T e e S T = T \® I NG TR NG T NO RS



Item Number

32

101
102
103
104
105
106
107
108
109
110
113
114
115
116
117
118
119
121
122
123
125
128
129
140
142
143

Part Number

LA-2876
1000001686
1000001684
CAC-1196
N044359
1000000272
Z-D24819
NO017592SV
A03865
N102531
AC-0815
SUDL-9-1
D25731
SSF-995
A11027
A14430
CAC-1206-1
AC-0206
Z-A02125
NO002119SV
A00470
H-7051
D29132
D24595
N036518
D21127
A19123

PartsList for 919-16738 Type O

Description

LABEL POWER CORD TRI
SHROUD

SHROUD

HEAD UMC

TUBE SEAL

TUBE OUTLET .3125 OD
GASKET HEAD UMC GRAP
VALVE PLATE ASSY
GASKET UMC

PUMP KIT

BELT TIMING DAYCO
SCREW #8-32X.375/.34
ISOLATOR PUMP

SCREW #10-24X.875 HH
SWITCH ROCKER

POWER CORD

CLAMP HOSE .250 ID H
TUBE ISOLATOR

BRUSH MOTOR 3HP UMC
MICRO PRESS. SWITCH
HANDLE SUPPORT SEARS
HOSE AIR 1/4 X 10 BL
SCREW

FAN UMC MOTOR 8MM PL
CON ROD ASSY

SCREW #10-24X.563 PA
SCREW

Page 2

Qty Required

e ¥ 2 T S O e R S NS R e LY T e S S R e e e e T



PartsList for 919-16738 Type O

[tem Number Part Number Description Qty Required
835 N000349 INSTRUCTION MANUAL 1
856 N075781 BLOW GUN KIT 1
856 N004086 AIR HOSE 1

Page 3





